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1. 64=log	4096
(i) 2.5 (ii) 7.5 (iii) 0.5 (iv) 1.5 (v) 8.5

2. 81=log	729
(i) 1.6667 (ii) 2.6667 (iii) 7.6667 (iv) 8.6667 (v) 0.6667

3. 125=log	25
(i) 9.5 (ii) 0.5 (iii) 1.5 (iv) 3.5 (v) 2.5

4. 2401=log	49
(i) 3 (ii) 2 (iii) 0 (iv) 4 (v) 1

5. 81=log	6561
(i) 0.5 (ii) 2.5 (iii) 1.5 (iv) 7.5 (v) 8.5

6. 16=log	256
(i) 0.5 (ii) 1.5 (iii) 2.5 (iv) 8.5 (v) 7.5

7. 1000=log	100
(i) 1.5 (ii) 3.5 (iii) 0.5 (iv) 9.5 (v) 2.5

8. 27=log	9
(i) 2.5 (ii) 3.5 (iii) 0.5 (iv) 9.5 (v) 1.5

9. 10000=log	1000
(i) 9.3333 (ii) 3.3333 (iii) 1.3333 (iv) 0.3333 (v) 2.3333

10. 16=log	64
(i) 8.6667 (ii) 2.6667 (iii) 7.6667 (iv) 0.6667 (v) 1.6667

11. 32768=log	4096
(i) 0.25 (ii) 3.25 (iii) 1.25 (iv) 2.25 (v) 9.25

12. 36=log	216
(i) 2.6667 (ii) 0.6667 (iii) 1.6667 (iv) 8.6667 (v) 7.6667



13. The	base	of 49 islog	7
(i) 6 (ii) 49 (iii) 9 (iv) 4 (v) 7

14. The	base	of 7
8 islog	8

(i) 8 (ii) 7
8 (iii) 7 (iv) 10 (v) 5

15. The	base	of islog	6.0028.0000

(i) 6 (ii) 5 (iii) 3 (iv) 9 (v) 28

16. The	base	of 74	 islog	5
(i) 4 (ii) 74	 (iii) 8 (iv) 2 (v) 5

17. The	base	of 90 islog	1
5

(i) 1
3 (ii) 3

5 (iii) 1
5 (iv) 90 (v) ( -15 )

18. The	base	of 7
11 islog	8

9

(i) 7
11 (ii) 8

9 (iii) 8
7 (iv) 10

9 (v) 2
3

19. The	base	of 144	 islog	1
2

(i) 144	 (ii) ( -12 ) (iii) 3
2 (iv) 1 (v) 1

2

20. 5+ 8=log		 log		
(i) 402	log		 (ii) 40log		 (iii) 42log		 (iv) 39log		 (v) 38log		

21. 86+ 63=log		 log		
(i) 5420log		 (ii) 5418log		 (iii) 54182	log		 (iv) 5415log		 (v) 5417log		

22. 3
8 +

5
7 =log		 log		

(i) 17
56log		 (ii) 15

56log		 (iii)

	 	 2

( 1556 )
	 	 	

log		 (iv) 5
18log		 (v) 13

56log		



23. 6
7 +

7
53 =log		 log		

(i) 8
53log		 (ii) 4

53log		 (iii)

	 	 2

( 653 )
	 	 	

log		 (iv) 6
53log		 (v) 2

17log		

24. 69	 + 69	 =log		 log		
(i) 617	log		 (ii) 918	log		 (iii) 418	log		 (iv) 618	log		 (v) 619	log		

25. 935	 + 939	 =log		 log		
(i) 9614	log		 (ii) 9014	log		 (iii) 9313	log		 (iv) 9315	log		 (v) 9314	log		

26. + =log		2.0000 log		10.0000

(i) log		21.0000 (ii) log		22.0000 (iii) log		18.0000 (iv) log		19.0000 (v) log		20.0000

27. + =log		76.0000 log		15.0000

(i) log		1142.0000 (ii) log		1140.0000 (iii) log		1138.0000 (iv) log		1139.0000 (v) log		1141.0000

28. 1+ 3=log	
	

log	
	

(i) 32	log	
	

(ii) 2log	
	

(iii) 3log	
	

(iv) 5log	
	

(v) 1log	
	

29. 90+ 1=log	
	

log	
	

(i) 93log	
	

(ii) 90log	
	

(iii) 88log	
	

(iv) 89log	
	

(v) 902	log	
	

30. 11
43 +

27
56 =log	

	
log	

	

(i) 295
2408log	
	

(ii)

	 	 2

( 2972408 )
	 	 	

log	
	

(iii) 297
2408log	
	

(iv) 99
802log	
	

(v) 299
2408log	
	

31. 826	 + 822	 =log	
	

log	
	

(i) 848	log	
	

(ii) 808	log	
	

(iii) 827	log	
	

(iv) 828	log	
	

(v) 829	log	
	

32. + =log		62.9100 log		19.4400

(i) log		1223.9705 (ii) log		1224.9705 (iii) log		1220.9705 (iv) log		1221.9705 (v) log		1222.9705

33. 65+ 63=log	
	

log	
	

(i) 4098log	
	

(ii) 40952	log	
	

(iii) 4094log	
	

(iv) 4092log	
	

(v) 4095log	
	



34. 18
20 +

68
95 =log	

	
log	

	

(i) 306
475log	
	

(ii) 16
25log	
	

(iii)

	 	 2

( 306475 )
	 	 	

log	
	

(iv) 306
473log	
	

(v) 308
475log	
	

35. 577	 + 577	 =log	
	

log	
	

(i) 5715	log	
	

(ii) 5713	log	
	

(iii) 6014	log	
	

(iv) 5414	log	
	

(v) 5714	log	
	

36. + =log		67.3700 log		66.8100

(i) log		4498.9897 (ii) log		4502.9897 (iii) log		4500.9897 (iv) log		4501.9897 (v) log		4499.9897

37. + =log		34.0000 log		89.0000

(i) log		3026.0000 (ii) log		3027.0000 (iii) log		3024.0000 (iv) log		3025.0000 (v) log		3028.0000

38. + =log		0.0769 log		0.3529

(i) log		0.0271 (ii) log		7.0271 (iii) log		1.0271 (iv) log		8.0271 (v) log		2.0271

39. 658	 + 652	 =log	
	

log	
	

(i) 6310	log	
	

(ii) 659	log	
	

(iii) 6810	log	
	

(iv) 6510	log	
	

(v) 6511	log	
	

40. + =log		18.7900 log		53.0600

(i) log		998.9974 (ii) log		994.9974 (iii) log		995.9974 (iv) log		996.9974 (v) log		997.9974

41. 28− 18=log		 log		

(i) 4
3log		 (ii)

	 	 2

( 149 )
	 	 	

log		 (iii) 14
9log		 (iv) 16

9log		 (v) 2log		

42. 20
73 −

12
43 =log		 log		

(i) 217
219log		 (ii) 215

217log		 (iii)

	 	 2

( 215219 )
	 	 	

log		 (iv) 215
219log		 (v) 71

73log		

43. 74	 − 72	 =log		 log		
(i) 7log		 (ii) 72	log		 (iii) 42	log		 (iv) 73	log		 (v) 92	log		

44. − =log		40.0000 log		16.0000

(i) log		2.5000 (ii) log		3.5000 (iii) log		1.5000 (iv) log		0.5000 (v) log		4.5000



45. 79− 20=log	
	

log	
	

(i) 79
18log	
	

(ii)

	 	 2

( 7920 )
	 	 	

log	
	

(iii) 77
20log	
	

(iv) 79
20log	
	

(v) 81
20log	
	

46. 23
53 −

4
5 =log	

	
log	

	

(i) 113
212log	
	

(ii) 117
212log	
	

(iii)

	 	 2

( 115212 )
	 	 	

log	
	

(iv) 115
212log	
	

(v) 23
42log	
	

47. 284	 − 282	 =log	
	

log	
	

(i) 28log	
	

(ii) 282	log	
	

(iii) 283	log	
	

(iv) 312	log	
	

(v) 252	log	
	

48. − =log		48.4000 log		90.6500

(i) log		7.5339 (ii) log		2.5339 (iii) log		1.5339 (iv) log		0.5339 (v) log		8.5339

49. 83− 55=log	
	

log	
	

(i) 83
53log	
	

(ii)

	 	 2

( 8355 )
	 	 	

log	
	

(iii) 81
55log	
	

(iv) 83
55log	
	

(v) 17
11log	
	

50. 12
22 −

22
43 =log	

	
log	

	

(i) 129
119log	
	

(ii) 131
121log	
	

(iii)

	 	 2

( 129121 )
	 	 	

log	
	

(iv) 129
121log	
	

(v) 127
121log	
	

51. 973	 − 975	 =log	
	

log	
	

(i) 97-2	log	
	

(ii) 100-2	log	
	

(iii) 97-1	log	
	

(iv) 97-3	log	
	

(v) 94-2	log	
	

52. − =log		69.8300 log		51.7400

(i) log		1.3496 (ii) log		0.3496 (iii) log		3.3496 (iv) log		2.3496 (v) log		9.3496

53. − =log		61.0000 log		4.0000

(i) log		14.2500 (ii) log		17.2500 (iii) log		13.2500 (iv) log		15.2500 (v) log		16.2500

54. − =log		0.2500 log		0.7283

(i) log		7.3433 (ii) log		2.3433 (iii) log		8.3433 (iv) log		0.3433 (v) log		1.3433



55. 795	 − 793	 =log	
	

log	
	

(i) 772	log	
	

(ii) 812	log	
	

(iii) 793	log	
	

(iv) 79log	
	

(v) 792	log	
	

56. − =log		88.7000 log		7.1900

(i) log		11.3366 (ii) log		13.3366 (iii) log		10.3366 (iv) log		14.3366 (v) log		12.3366

57. The	logarithmic	notation	of = is94	 6561

(i) 6558=log	7 4 (ii) 65612	 =log	9 4 (iii) 6560=log	9 4 (iv) 6561=log	9 4 (v) 6564=log	9 4

58. The	base	exponent	form	of 10000= islog	10 4

(i) =105	 10000 (ii) =103	 10000 (iii) =410	 10000 (iv) =134	 10000 (v) =104	 10000

59. 636	 =log	9
(i) 6 63log	9 (ii) 606	log	7 (iii) 6 66log	9 (iv) 5 63log	9 (v) 7 63log	9

60. 542	 =log	1
3

(i) 2 54log	1
3

(ii) 522	log	
( -13 )

(iii) 2 57log	1
3

(iv) 3 54log	1
3

(v) 54log	1
3

61. 259	 =log	
22	

(i) 239	log	
2-1	

(ii) 8 25log	
22	

(iii) 9 28log	
22	

(iv) 9 25log	
22	

(v) 10 25log	
22	

62. 9310	 =log	203
50

(i) 10 96log	203
50

(ii) 10 93log	203
50

(iii) 9110	log	201
50

(iv) 9 93log	203
50

(v) 11 93log	203
50

63. 6
5 =log	10

(i) 2+ 3− 5log		 log		 log		 (ii) 2+ 3− 7log		 log		 log		 (iii) 2 2+ 3− 5log		 log		 log		 (iv) 2+ 2− 5log		 log		 log		

(v) 2+ 3− 3log		 log		 log		

64. 20
7 =log	10

(i) 2+ 5− 7log		 log		 log		 (ii) 2 2+ 5− 7log		 log		 log		 (iii) 2 2+ 5− 9log		 log		 log		 (iv) 2 2+ 5− 4log		 log		 log		

(v) 3 2+ 5− 7log		 log		 log		



65. 120=log	10
(i) 3 2+ 3+ 4log		 log		 log		 (ii) 4 2+ 3+ 5log		 log		 log		 (iii) 3 2+ 1+ 5log		 log		 log		 (iv) 3 2+ 3+ 7log		 log		 log		

(v) 3 2+ 3+ 5log		 log		 log		

66. 336=log	10
(i) 4 2+ 1+ 7log		 log		 log		 (ii) 4 2+ 3+ 9log		 log		 log		 (iii) 4 2+ 3+ 7log		 log		 log		 (iv) 3 2+ 3+ 7log		 log		 log		

(v) 5 2+ 3+ 7log		 log		 log		

67. 1387=log		
(i) 19 73log		 (ii) 73✕ 19log		 log		 (iii) 73÷ 19log		 log		 (iv) 73+ 19log		 log		 (v) 73− 19log		 log		

68. 26
10 =log		

(i) 26+ 10log		 log		 (ii) 10 26log		 (iii) 26− 10log		 log		 (iv) 26✕ 10log		 log		 (v) 26÷ 10log		 log		

69. 89
90 =log	10

(i) 89
90 ÷ 10log		 log		 (ii) 10÷ 89

90log		 log		 (iii) 89
90 − 10log		 log		 (iv) 89

90 + 10log		 log		 (v) 89
90 ✕ 10log		 log		

70. 100=log	4
(i) 4÷ 100log		 log		 (ii) 100− 4log		 log		 (iii) 100✕ 4log		 log		 (iv) 100÷ 4log		 log		 (v) 100+ 4log		 log		

71. =log	9.0623.3100

(i) −log		23.3100 log		9.06 (ii) ÷log		23.3100 log		9.06 (iii) ÷log		9.06 log		23.3100 (iv) ✕log		23.3100 log		9.06

(v) +log		23.3100 log		9.06

72. 29
74 =log	2

5

(i) 29
74 ÷

2
5log		 log		 (ii) 29

74 ✕
2
5log		 log		 (iii) 29

74 +
2
5log		 log		 (iv) 2

5 ÷
29
74log		 log		 (v) 29

74 −
2
5log		 log		

73. 627	 =log	
107	

(i) 7 62✕7 10log		 log		 (ii) 7 62÷7 10log		 log		 (iii) 7 10÷7 62log		 log		 (iv) 7 62+7 10log		 log		
(v) 7 62−7 10log		 log		

74. 610	 =log	
83	

(i) 10
3 6log	8 (ii) 20

3 6log	8 (iii) 10
3 5log	8 (iv) 10

3 8log	8 (v) 10
3 4log	5

75. 72=log	3
(i) 63÷ 63log	3 log	72 (ii) 63+ 63log	3 log	72 (iii) 63− 63log	3 log	72 (iv) 63✕ 63log	3 log	72 (v) 63÷ 63log	72 log	3



76. 7=log	5
(i) 7− 9log	9 log	5 (ii) 7✕ 9log	9 log	5 (iii) 7+ 9log	9 log	5 (iv) 9÷ 7log	5 log	9 (v) 7÷ 9log	9 log	5

77. 1646	 =log	
1618	

(i) 1.5556 (ii) 3.5556 (iii) 2.5556 (iv) 0.5556 (v) 4.5556



 1)	(iii)  2)	(v)  3)	(iii)  4)	(ii)  5)	(i)  6)	(i)

 7)	(i)  8)	(v)  9)	(iii)  10)	(iv)  11)	(iii)  12)	(ii)

 13)	(v)  14)	(i)  15)	(i)  16)	(v)  17)	(iii)  18)	(ii)

 19)	(v)  20)	(ii)  21)	(ii)  22)	(ii)  23)	(iv)  24)	(iv)

 25)	(v)  26)	(v)  27)	(ii)  28)	(iii)  29)	(ii)  30)	(iii)

 31)	(iv)  32)	(v)  33)	(v)  34)	(i)  35)	(v)  36)	(iii)

 37)	(i)  38)	(i)  39)	(iv)  40)	(iv)  41)	(iii)  42)	(iv)

 43)	(ii)  44)	(i)  45)	(iv)  46)	(iv)  47)	(ii)  48)	(iv)

 49)	(iv)  50)	(iv)  51)	(i)  52)	(i)  53)	(iv)  54)	(iv)

 55)	(v)  56)	(v)  57)	(iv)  58)	(v)  59)	(i)  60)	(i)

 61)	(iv)  62)	(ii)  63)	(i)  64)	(ii)  65)	(v)  66)	(iii)

 67)	(iv)  68)	(iii)  69)	(i)  70)	(iv)  71)	(ii)  72)	(i)

 73)	(ii)  74)	(i)  75)	(i)  76)	(ii)  77)	(iii)
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